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Total Debit Credit

Balance Expense Bill
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Example 1 Divide by 10
to find 10% first.

What is 90% of 120?  Then multiply by 9

to find 90%.
Answer
I00% = 110
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Jack invests £300 into a savings account at 5% compound interest for
2 years. He works out how much he will have at the of the 2 years.

5% of 300 = £15
Balance after 1 year = £315
5% of 315 = £15.75
Balance after 2 years = £33075

Compare Jack and Evals methods.

| used a multiplier
method.
300 x 1052 =
£33075

Rosie also invests £300 into a savings account at
2% compound interest for 5 years.

Do you agree with Rosie? | think | wil receive the
Explain why. same amount as Jack
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Question 4: Work out the missing numbers

@ []+3=1 ®o0-[]=8 © -6+[]
@ []-5=-13 @ 9-[]=15 0 -2-]
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Mrs Jones donates 4% of her salary each year to charity.
She is paid £32,400.
Work out how much money she donates to charity.
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TETRA-BANK
3% compound interest for the first year
19 for each additional year.

BANK OF CLARITY

17% compound interest

per year.

Which bank will pay more interest on £3500 invested for 3 years?
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Maths and Money
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Beywords

Integer: a whoe number that i postive or regative

Rationak a nomber that can be made by dvidng two ntegers
Irrationat 6 rumber that cannot be made by dvidng two integers
Inverse operation the operation that reverses the action
Quotient: the resut of & dusion

Product: the result of a mutiplcation

Motipls: found by mutipbing any number by positive. integers
Factor: ntegers that mutipl together to get another number
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